Pirsics 248 Lecture 8 Sary Shin W,
Eve Pendulum 2{9lo7

.Y:: W\ = V\/\g = “‘\/VW\Q\&;
. =) P = - 9 Sf\ngiy
L

Lg AWy SHo 2 No f & 15 \G‘r?j‘

bt QN Ly thning s SHO near botton of ?a’myﬁri«e‘\

Fov smatl ¢ snd g



Ex: PL\YS'\CC\[ "P,QV\OLU\\\I\M‘

. Do



’Dam(»zo\ Og<' Wadion

Maz = — WM, — W YV
\/\r\a ,'\
2 2 ’\6 (iX T -f bl,
X = T Wo X — .;(_ — gasis To solve
t an\D M?QuwnTT&
Nete @ @2 = (o590 + { sn@ Com show using
"(‘.ou/l\w <0l

G—(—U‘QSS - '\»C(T)»w e‘._%

o Coswi
C g (T
\/J\’\b MPGW?MS anfe Q@S:j?
— A feredt wtion s 2asy

— Can descrlbe bhotiy dka/va[vx? Y o<t o s

Tn A unHed W oy

- % 1 )
T“ﬁ X — A 0, ' o LU"\QV‘L A S ara u’mkmmun

waginery udser



S‘\’Vovxﬂ c’ta;/mpmg ;J{ Wo<¥ = o Puw&j Tw\acjiv\mﬂ
= no oScillaliovs

wo;)\(f :5 oscillatiovis

S O\Vd(lm :

C s pﬂ”\w W innboes

\)u\'\ad"%(/u,o E o;,(_,u? Meoms s the voolk \30»1/4’ ol RHS

X&) = e~

ml%

k& =X
R@(AQ %L t>



